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COMPUTER APPLICATIO‘\' (CO‘WV[ERCL)

’V[ax1mum 60 Scores _
_ » Time : 2 Hours
‘ _ N Cool off time : 15 Minutes
/General Instructwns to Candldates v o v \

- ® There is a 'Cool off time' of 15 rnlnutes in addition to the writing timeé of 2 hrs. -

® You are neither allowed to write your answers nor to discuss anything with
others durmg the 'cool-off time'.

Use the 'cool off time' to get famlhar with questlons and to plan your answers.
Read the questlons carefully before answering.
All questions are compulsory and only internal choice is allowed

" When you select a question, all the sub-questions must be answered from the
same questlon itself. :

‘Calculatlons figures and graphs should be shown n the answer sheet 1tse]1
V[alavalam version of the questions is also provided.

Give equatlons wherever necessary

Electronic devices except nonprogrammable calculators are not allowed in the _
Exammatlon Hall.”
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Ravi received an interview call

letter from .PSC next day after the

date of the interview. Theréfore he. -

~was not able to attend the
interview.  Which value = of

information is lost here?

/|

What do you mean by data? What »

are the steps that are genérally

foll'owed‘in‘: data processing?

(3)

a).b Name the chai"acter coding

format that permits the use of.

Malayalam characters in a

‘;:omputer'.
b)- ‘Explain i‘;s feaﬁ‘xre’s..
.If (92)x = (222)y, then rﬁnd x and y.
OR‘
- Fill in the blanks.
a) (11101),— (. )2;=,(10;111)2

b) (. ),—(11011),=(1011), -
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alose ey call letter eidlay, aicos

@@ eldlo@ interview  dlaumveniied

aflegm” @o@loym;. @ @006m5 Ravi-

88  Interview-all@ aie®msie00Md

552.-

. Ravi-#¢' PSC i@ m?m&o‘inter\}iew- '

moullaflgl. information -ed oqm;

- oeymoem snalles mnga“se)gjg«s??

Data ag)Momd agyem? data processing

a@e®R[00?
a) Computer @ 0eiwogo @IEHOERWD
@@@@0({)’1&50@ 0o enz0m

character coding format aga?

.- b) anafled (IGD B0 QﬂQJ,(OToQG)&&).

RS}

92), = (222)3, @Remsl@ x-o@wio
y-ogwio allel &ensiaiglenis:.
.~ OR

Ojgg) @O ali@la loes.
a) (11101),~(____),=(10111), -

b) (), (11011),=(1011),
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-10.

.- -Flat panel displays are mostly used

~ purchase computers

" peripherals.

) Suggest a

for displays in portable computers.

Why?

“Sunil plans to start a vsupermarket.

in the city. To _imprbve ‘the

efficiency in billing, he wishes to

Z

hardware
- configuration that suits this

© purpose.

b) Suggest:vdev"ices for efficient

data entry and printing-of bills. |

J uétify. .

- Explain the structure and workfng

ofa CD. -

What is TCP/IP? What is its:

- importance? -

OR

What is an IP address? Give an ,

example of an P address.
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Portable computer E )

- mowoeem@o@ flat panel display

© 06N ©aIEWOUTlENME. agamEIE:06NE?

mylad city ofid a0y rogad mo@:e@é”.

- 00yeuam UdEle{leno®  @oegano

computer gl peripherals 80

QUOEHlBHOM @RSl

a) oImowes hardware

- configuration mldegudlomns.

printing mye devices aidegueloes. -

8y CD wes caismwioe (i0idomimale

QlQdleee:.

- TCP/IP agmo® agom? - @olen

. (edowomyo QUllu@lesds.

10.

‘OR

IP  address Ao ag)om?

IP address of ©coaneMo g9 »
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3)

b) &omémdmow_data entry ®ep bill -
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11..

o apphcatlons for the contest should

12,

13;

There is" a

The Computer Club in your qchool K

plans'to conduct a qulz programme.

Suggestlon; that

be received ‘by e-mail on_ly.

“a) What advantages will you get if -

applications are received by

© - ermail?

b) Suggest an e-mail address for

receiving applications.

Ramya works in an office where

there are 5 'bdmptiters. She plans to

interconnect these c‘oﬁipﬁters. List
the édv'aritagés she will get by doing' -
“this. .

(2)

1).

@]

a) An algorithm to calculate the . ‘

sum of even numbers between

1 and 50 is given below. Arrange

the steps in the correct order so -

~ as to get the result.
Start
. Sum= 0 |

" If Num=<= 50 then Goto Step 4

Num = Num +1
If remamder of Num / 2 0 then

’Sum Sum + Num

(Num =1 ‘
Output Sum -
Stop

'b) Draw a flow chart for the above

“algorithm.

. K-36
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Mdeguo alamy.

"a) e-mail

552

mlemees mieygioar Computer Club

B0y @oﬂ@” program mseEmomd ¢om’

; éa_r'uc%dn& qUIZ-MOWES EOCa DL R

‘,ve-'mail &9l Ne@lento ag 8y

s @Gl SH D
rruj’roé:m%eegcmuocfb

Gmgsmacﬁs a@‘l@@go

- b) @GO3 DD mﬂ@:m’l&@gm@?mggg

80 e-mail address 0degudlee)H.

" OoyQeS 6}0&&0’0’](5% 5 computer @

oo, @paId Y computer @@

oi@ connect ©21QuAIOM
@DMaSSeM). DEBEOM ©2IQYME

alyl aidloeanim wg,emgvécfé ag)emERo0?

ag)OamEIOS

2

V(fl)
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a) 1 ewye 50 a@@go nSEiienas snog

Moy BIOS

algorithm @069 OB @0y

@ HOEMOMIBs

@’0 algorithm oo step oe;cib

RElwow @amm'm o@‘y&@g&
Start
Sum=0
If Num<= 50 then Goto Step 47
Num = Num + 1
“If remainder of Num /2= 0 then

Sum = Sum + Num

Num=1 5
Output Sum
Stop

b) e algorlthm amsﬂmfo flow chart

QB B68.
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14,

15.

18.

17

18.

14.

system.

List and explain the three différent
components of the UNIX 6p‘erating

-

Write notes on any three uses of a .

comput‘érs in the field of medicine -

and healthcare.

"An integrated workstation is the
major compbnent of an inte‘grated :
office." What fﬁﬁétiqhs shbuld an

"'integratve;d %ork"statiqn perform so

as to justify the above statement?‘

Categorize the following into two -

and hgivéf suitable headings.

Google; Internet Explorer, Yéhoo, ’

‘Viozilla

Name any container centrol in

Visual Basic.

Convert the following into an.

e_quiValenfc VB statement.

1+a° +‘2ab
T
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14.

15.

16.

17..

18.

19.

"UNIX operating system e aym;

afloflw cqmponénts ag)$)oil

oﬁmm%es)g;e;. 3

Medicine and healthcare cocaieiofid

‘computer  o@ ageomleye 3

9aIEWONEBEOs Slal Eioa 9.

B0 integrated  office o)

(ajwoms)cag aejrs&;mo'em‘ integrated

workstation.” ojegldd «106TD

IM@OQUM - (LOWIBAHHOD  B0]

integrat‘éd . workstation = miad
Q) ®amELo0 da,om‘;»smu%’ 621gPROIDMYEs -

crpfoce;més&rsdb ©6MB0deMo?

ool ®oo ®Idla EIMIEWORIMOW

DEIOBOT MNBILH:.

Googie-, Internet Explorer, Yahoo, '

Mozilla

Visual Basic ee o@mmé@ &ry

container control emM ewOOPIOI®.

6% 008 eTsEleeMAaM mg,égmom)

VB statement @@l aoglowsms. |

1+a®+2ab
x="—""""
2
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20.

21,

23,

can have'a maximum of 150

Compare forms and modules in VB. -

Explain _the' following three

components of VB IDE.

a) . Project Explorer window

b) | Prbper.ties window

¢) Form Layout window

In'a VB program, George wishes to

display a message, only wheh the

right mouse button is clicked. Name

the VB event for this purpose and

write its syntax. ,

Kavya is designing a VB form

consisting of a text box named

'txtComment’ to enter co»mments,l
about a film. The comment can be

entered in more than one line and

characters. Write the property

settings for this.
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20.-

21.

22,

23.

552

forms, modules agrmicau @oomayo

- 92l

(2)

VB IDE ofeel @69 aoe;osgmm%eﬁ)g,m_ :

- man  components em  &yolal

afloudleys.

" a) Project Explorer window

b) Properties window

‘¢) Form Layout window

exodzElmy @e@ VB program o

- alelo@m mouse button - click

o2W®O®’ @0lmo, 0 message
alejmalmy  auudejo
snolmowes VB event -

Madl@o ag)PI@id.

B0y mﬂ«ﬁmcegs)g a8 moElniowo

age@omies  form  avleemd

e oigusmwoen. @el@ 'txtComment'

ag)m caldldd @oEllowo ag)ég@omg,gé
e text béx B6NE. @00 e
& s)oadd  uclwld, o_l'(meO'_lwrl 150
characters. @ ag9I®o croouﬂ&éverpa.

Holmowes property = settings

| AR,

e@Qlemo.-

(3)

syntax -

®)

2



24.

~ 25.

26.

The following numbers have to be

stored in the ‘Variable‘s 'Numl' and

'NﬁmZ' respectivély. '-Suggehst' the
most, ‘suitabl'e data types for the two

variables.

a) 2356.67

‘b) 39456

Write a VB program to print the.
multiplication table upto 10 of a

‘given number on t_he form. Accept

the number 1n a text box.
" OR

Write a VB program to calculate

" the printing chafges for a school

annual day invitation letter. If the

_ number of copies is less than 100,

then printing charge is Re. 1 per

copy. If the number of copies is

_between 100 and 500, then the

charge is 75 paise pér 'copy and for -

more than 500 copies, it is 50 paise.

Accept the number of copies using -

a téxt box. -

(2)

3)

3)

 24.

25.

26.

'Numl", "Num2' ag)(fn’l.‘variables @
@&M&QGTT)O. 60D v,ariablés o a@R0
@OMNEWORIDOW | data - '.-types
m1‘<’bgs(§cfo1mgoe;. : e

a) 2356.67

b) 39456

‘80 number, o 10 ceowes

wgemmalgle  print  eaigomes
VB program ag)9ym)sn. number &m)

text box -ab mlledloe.

OR
W andalesenioq invitation
letter print eaigpaiomes charges

HEMmeN)  H330mes VB program

BOUOOEMEIA B3} copy 65 1 ogal. 100

mjo 500 m&;: Qsco}lelom“ COPY" @)

af)eRo ag)slad 8wy copy ®6) 75 eeaia.
COPY  H8LeS '

&S @eI00MmEI®, 80y copy 6 50

OOal. COPY HYOS agmo 8wy text

box @ aufld@lee)s,.

K-36

ogeRo 500 ¥

552 -
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